AEL ZH W, 8 JHs X2 22250N7HX|

=5 4Y/HIE o[0ix|

Mo
=

THE:

éEI

M o2

AE oA 2 X2l
X E.

Bt A: 2ix| Bl 28 38 IRl FZALICt
JZ7| MEo {20 ALSE £ AUELICHENY B: 2iX| BlltHE
ol o2 72| 9| x|of A ZHZLich.

ol

== = |

7| 2ol g o2 AMSE = JU&LIch

=gl

S™EEs 1o E HEEHoZ M8 Ho{ 22 E&l|l n™ELICH

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



Kinn

FAIE EYI, L8, SEHH, EH 715 1FE 22250N7HA]

= 8Y/HMIZ olo|x]

o

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



& 7ts ™= 22250N7HX]

:

B1

=
HtH=F-
st L2
[
0
S
1 =
B |-e
[} L1
a
o =
HEH=3-
L2

© HEINRICH KIPP WERK GmbH & Co. KG

D2

B1

Al

www.kipp.com - info@kipp.com

Kinn

3/4



iz A| = =2l AEl =S M7= T1X=d
FAESY= A SEHM, 8 715 1= 22250N7EX]
=29
FAIE S8, 28, S M, 28 IS, 1Y 22250N7HK|
FEHS El2l A1 B1 B5 C1 D D1 D2H H1 AE=Z3 L L1 L2 M Ogo] £33 ZHEyd 2o
S MHWTZE  FH F1 F2
N N N
K2288.0111501 A 50,8 69,8 8 30 21,7 18,6 3579150 43,8 148,8 46,8 25,4 M12x50 91° 120 3800 11150
K2288.0222501 A 70 90 11,1 40 27,2 25 45 87 150 55 198 65 38,1 M16X50 88° 140 4500 22250
K2288.0111502 B 508698 8 30 21,7 18,6 3579150 59,5 212 62 25,4 M12x50 183° 120 3800 11150
K2288.0222502 B 70 90 11,1 40 27,2 25 4587150 77,8 272 78,4 38,1 M16X50 183° 140 4500 22250
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



